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Ezngfg 1. Solve the TVP

Ay = X‘/a, y(l)=3.
AX
ioﬁ‘% Gcko"al SLrajrﬂL{ toe \\ScParo:l'e) 'hé(ﬂrc“{.‘-") evel uo:fc) solve 't !
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A%_ = xdlx.

Y
[ Sten A2 mtegrote.] Take the mdefinde méeirc..l on both sides®
YOE ou‘l.{ m(-cé.tg one “C 7

Ay = S xdAx
e S

-y =X tC.
ol

I:g{:ta{; 3 eveluate. ] Plog the TC into the sécr A resolt to
solve cor C; '9(.,'6 {:‘A:ts' L vt sfet .

‘3-3=_f+c
Ay
C=-3""_1=_-1-1= -3-3 =-5.
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$o by step 3
q step -)y'1=_£-_i.
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Ax*+5
E_xgnl:(gl Solve the %E
Ay = coslx
ﬁ e’

Soltion. Note: vohen '&Lcns,s ne 1C we co.u_s_LfP Sfc-P 3

(*evaluate Y ).

[5&5? 1.] e,Yc9~Y = cos(x)Ax
ESﬁeta 2.] S’QY&Y = §cos0d Ax
Y

e¥ = sml)+C.

I:S{:ct)'-}:l In(eY) = In(sm(x)+C).
Ve In(sinlx)+C).

E m,..?lcs muolvm 5e.]>o.rc:h¢u _LwQ substdction :

E)@P(c 3. Solve the TVP

by = e,SM(X)cos(x)\/;) y{0)="‘.
ax
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lu(‘. " sin(>

_%_ e cos(x)dy
sl

S\/ Y S\ c,os(X ussm(x)
\,r e aQu = e +C Ave e
- sn«[x)
Nows \/(05“"' Oy sn(o) = e
- L"/ =e +C= {+tC. o
< C,;H“l d-d-1=4-1=3
o sth(x)
2y %
y &= gﬂ?}.
sth(x) 'ol
\/ <€, + ) .
Exa.m‘igﬂ.
dK = A-K)
k At
where c.lr& |" cre Coh c»& 2
m,eﬁ%'_ c:'\i om{(f S‘é ) o.y& F K a..(wa?/.s Scl)adn:l’e a..ug
Solution.
4K = pat
-K
S d - = Sﬂ&é ﬁﬁc
-l B t mfﬁr&.l h K
S du —ﬂ +C v= [-K
L dov = '&K
dK=-4u
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-g@=ﬂf+c
L

- lh(lu')= ,5'6*‘6
-in(IF-K1) "= gt+c. ,
Now we've assumel 2K, s0 [-K70, so we Qont neel the
absolute values, so

-~ (F-K) =g t+C.



